: ,a) parallel to X axus
- 10.

11.
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~Standard X
MATHEMATICS ,.
Time:3.00hrs W pappRt Ma'ks"mo
l. Choose the correct answer: . o R e LAK ] Y
1. If there are 1024 relatlons from asetA= {1 2 3 4 5} to a set B, then the number of
 elementsinBis : e
';fa)3 ar b‘)2/ ER c)4 d)8'
2 If{(a, 8), (6 b)} represents an ldentlty functlon then the value of a andbare repectwely
; e@% - mw& 3 @wm Beanks mw& &
3. The HCF of numbers of the form 2'“ and s o o ke
L a2 b)3 cﬁ s.t_~_>»_-_'-d)4: ek
4. The value of(13 +23+33+ +153) (F+2¥3+asyis g '
a) 14400 i SRR RS s DY 14200 0 gl D &
G)_’TEBO : S : d)14520 g AR R AN
5. Which of the followmg should be added to make x*+64 a perfect square WAL
e byie R O @ EIEE o
: 6_:. lfAlsz X 3 matrlx and B 3x4 matrlx how many columns does AB have'?
.2 a)3 e . N o d)5
7 Two. poles of helghts 6m and 11 m stand vertically on a plane ground.: lf the dlstance
" betwee their feetis 12 m, What is the distance between theirtops 2. ‘i -
M b)14m_.'_\*;jlc)15m d)128m
8. IfAABC is an lsosceles triangle with LC 90° and AC 5cm, then AB is B
a)2.5cm b)5cm c)0em . dsfrem
9. R

The stralght lme given’ by the equatlon X 11 _ %
ATIBUTR LN parallel to Y axls

c) passes through the ongln ‘ d) passes through the p,onnt (0 11)
lf two non-vertlcal lmes are perpendlcularclde only |f a

If the ratio of the heught of atower and the length ofits shadow is J’ 1, then the angle

of elevation of the sun has measure iy | , :
a)v45° Sk - 'b) 30° i c) 90° - b d)v’BO"/
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12.

13:

14.
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2 X Maths
A ght is 13 cm will
hose radius is 5 M and slant helght is 13 cm ,

The height of a right circular cone w

- ibe » s S 6 130 d)5 cm e
2 b) 12 Gl iy h has the
o c
'T‘)nzzr:tlo of the volumes of @ cylmder a cone and a sphere if ea _
diameter and same height is X mz
T e C) R 5<y then the standard
If the mean and coeff cient varlatroq of a data are 4 and 87 o, 1 18 '
deviation is LR T, SEie
a}35 B3 G0 c’$45 o d)25 W
| BRign S Part < B i o
10x2=20

10.

20:

21..
" IfAB=12cm,AD =8.cm, AE = 12 cm and AC = 18 cm. 5

“A man goes 18 m due eastand then 24 m due. north Find the drstance of hlS current

' posrtlon from the startlng pornt'? : Mok

22
23.

24,
25,

Answer any 10 questlons (Q No.28 is compulsory)

15. FAX B={(3,2) 34) (6,2) 5, 4)} then find Aand B

16.
17.
18.

Find k if fof(k) = 5where f(k) = 2k - 1 : | Lo
If 13824 = 28 X 3b, then find ‘@’ and'bsl po ol O
Find the 8“"term'of,the GP 9,3,1,... % A

400 x4y12216

Find the square root of the followrng expressron 1 00 x8y4z4 ’

Deterrmne the nature of roots for the followmg quadratlc equatlon 15x2 +11x +2=0
In AABC Dand E are pornt on the sides AB and AC respectlvely Show that DE \\ BC

Find the equatron of a strarght Irne which has slope ¥ % and passrng though the pomt

(-1,2).
Show that the st - lrnes 2x + 3y 8=0 and 4x + 6y + 18 0 are parallel
A player suttrng on the top of a tower of helght 20m observes the angle of depresSlon

~of a ball laying on the ground as 60°. Frnd the dlstance between the foot of the tower.

%

27. Adie is rolled and'a coin is tossed srmultaneously Find the probabllrty that th die
e

and the ball. (,/‘ 1 732) MEREEDT o - R
Find the volume of a cylinder whose helght is 2 mand whose base area is 250 m2 v

shows an odd nur_nber and the coin shows a head.

2 8" If A [6 _5], Show‘th‘at A2 AT A T

'/.
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o X Maths
- ’ 3 : ' . ¢
 part Gy '1bx5»e50 '

S compulsory) ,
elation from A to B?

‘Il Answer any 10 questions. (Q.No.42
ing sets arer

'29. Let A={3,4,7,8}and B={1,7,10}, wmchofthefollow
) R={(3.7), (4.7), (7,10), (8:1)} It

) Ry ={(3,1), (4,12)} -
ii) Ry = {(3,7),(4,10),(7,7),(7,8),(8, 11).(8.7). (810)} P N T
f A — B be a functlon grven by

A={1234}and B = {2,5,8, 11 14} be two. sets
f(x) = 3x — 1, Represent this functron

i) by arrow diagram -
; ii) in a table form
i) as a set of ordered palr

- iv) In agraphlcal form.
The sum of first n, 2n, and 3n terms of an A P are S1,

31,
. that 83-3(82 Sy
Rekha has 15 square colour papers of sizes 10 cm,

32.
: much area can be decorated with these colour papers?.
m-and nif the followmg polynomral is: perfect square

30.

82 and S3 respectlvely Prove
11 cm, 12 cm 24 cm How
33. Ftnd the values of

 36x%—60x3+61x2~ mx+n :
' 34, Ifthe roots of the equatlon x2 + 6x 4 =0 area,f . Fmd the quadratlc equa

tlon;w,hose '
 rootsare < .- s
i) a?and [32 ol 2
i) a2p and Bza a4 ‘ — .
Proportronahty Theorem )

- 35. State and prove Thales Theorem (Basrc
- 36. Without using Pythagoras theorem show that the pomts (1 —4) (2

7 forma right angled tnangle T
A(—3 0), B(10, —2) and C(12 3) are the vertlces of AABC Ftnd the equatlon of the

-3 'ahd} @ 1

7
altltude through A and B. :
hghthouse the angle of depressron of two ships on the oppostte

o 38. From the top ofa
and 60° lf the herght of the ||ghthouse is h'meters and

“sides of itare observed to be 30°
the lme Jommg the shlps passess through the foot of the llghthouse show that the .

, 4h i g6 PR = :
.- ‘dtstance between the ShIPS is ,/_ m.-Aedid g & e ol
39. Aright. crrcular cylmdrrcal contamer of base radlus 6.cm and hetght 15 cm is full of ice
. cream. The ice-cream is {0 be filled i |n cones. of helght 9 cm and base radius 3cm,
havmg a hemrsphencal cap. Flnd the number of cones needed to empty the contain
er.
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X Mathé
4 LisAcm

gl radius
nd intern 1 (oNg. Frnd

40. A honow metallic cylinder whose external radiusis4.3cma e
of 1

and whole length is 4 cm is melted and recast into a solid cylinder

the diameter of a solid cylinder.
Two unbrased dice are rolled once. Find the probabilrty of gettmg
i) a houblet (equal numbers on both dlce)
ii) the product as a Prime number
iii): the sum as a prime number.' ‘
iv) thesumas1 iyl ‘ ‘ .
42. Find the value of k, if the area of a quadrrlateral is 28 sq: unlts whose vertioes taken In
order (-4, -2), (-3, k), (3 —2)8i(2:3) S7
Part-D . NN
v h 2X8=16'

grven quadratic equation')v(2 - 8X +1 6 =0 by

41.

Answer all the questlons :
a) Drscuss the nature of the roots of the

srng graph

_8;.2

b). ATwo wheeler parking zone near bus stand charges as below ok

‘I'lme(hr)(X) Ta[8 |12 [2%]

Amount?(Y) | 60| 120 180 860
rect 'variétion 'c;r in in‘v'er's'e variation to the

Check rf the amount charged are in dr

parking time. Graph the data. Also -
i) Findthe amount to be pard when parkrng tlme is 6 hrs

b i) Find the parkrng duratron when the amount Paid is 3150.
. 44, a) Construct AABC of base BC = 8 cm, AA 60° and the angle blsector of ZA meets

BC at D Such that BD 6 cm..
TS (OR)

b) Take a pornt whrch rs 11 cm away from the center of a crrcle of radrus 4 cm and
draw the two tangents to the clrcle from that pornt

,L F\”‘“‘(‘Q”\W\M i w(/ HT Set el

8%’“"’93 Stm
Kalpo
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